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Remember: Pencil, short date, underlined.
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‘ ‘ ‘ ‘ | | ‘ Calculation at Chesswood _.
Mega Challenge: § Grid-Short |

‘ ‘ ‘ ‘ ‘ B6 x 7... partition 56 to 50 + 6

This is where T
partition the larger

50 x 7 = 350 ber...

LI — 6 x7 =42 I pu'rnﬁhme ::mber's
, 5 x 5 50 6 in my grid.

7 350 42 = 392 O

Now add 350 and 42

23 X 3 il 56 x7 =392 L)
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56 x 7.. partition 56 to 50 + 6 This is where
‘ ‘ ‘ ‘ ‘ 50 x 7 = 350 partition the larger
number...
LIS — 6 x7 =42 I put the numbers
' 5 x 5 50 6 in my grid.
7 350 42 = 392

Now add 350 and 42

5 :'p




Week | Day |

Rzrrwm.bzr

N.cuw duld.rzn}ng 23 X
\ | | |

]
P.enal.

3 .o.n.,U'Lm.r oMW
| | |

Mega C

]
I5 X 5

16 X 4

23 X 3

Calculation at Chesswood

&

Grid - Short
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Now add 350 and 42

partition the larger

= ,o




Week | Day 2 | | | | |
Remember: Pencil, short date, underlined.
eoc e i

Calculation at Chesswood _.

M_Q,g,{], C}wu_zngz: E Grid - Short _I

B6 x 7... partition 56 to 50 + 6
‘ ‘ ‘ 50 x 7 = 350
6x7 =42

50 6

This is where T

7 350 42 = 392

Now add 350 and 42
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This is where T

‘ ‘ ‘ B6 x 7... partition 56 to 50 + 6

~ partition the larger
‘ 50 x 7 = 350 number...
6x7 =42 I put the numbers
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7 350 42 = 392

Now add 350 and 42
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This is where T
partition the larger

B6 x 7... partition 56 to 50 + 6
‘ ‘ ‘ 50 x 7 = 350
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l'_ 50 6 in my grid.
7 350 42 = 392

Now add 350 and 42
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Calculation at Chesswood _.

E Grid - Short _I

B6 x 7... partition 56 to 50 + 6
50 x 7 = 350
6x7 =42

50 6

This is where T

Now add 350 and 42
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Mega Challenge: §

56 x 7.. partition 56 to 50 + 6 This is where
‘ ‘ ‘ ‘ ‘ 50 x 7 = 350 partition the larger
number...
LIS — 6 x7 =42 I put the numbers
' q X 5 50 6 in my grid.
7 350 42 = 392

Now add 350 and 42
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, q X 5 50 6 in my grid.
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Now add 350 and 42
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Calculation at Chesswood _.

Grid - Short _I

Mega Challenge: ‘ §

This is where T
partition the larger

‘ ‘ ‘ B6 x 7... partition 56 to 50 + 6

‘ ‘ 50 x 7 = 350 Sy,
6 x7 =42 I pu'rnﬁhme ::mber's

l'_ 3 x 8 50 6 in my grid.
7 350 42 = 392 O

| Now add 350 and 42

37 X & | 56 x7 =392 L)
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56 x 7... partition 56 to 50 + 6 s ahele ™
‘ ‘ ‘ ‘ ‘ 50 x 7 = 350 partition the larger
number...
6x7-=42 I put the numbers
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‘ ‘ ‘ B6 x 7... partition 56 to 50 + 6

‘ ‘ 50 x 7 = 350 B
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l'_ 3 x 8 50 6 in my grid.
7 350 42 = 392

Now add 350 and 42

37 X & | 56 x7=392 L )




